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24 Angle Properties in Polygons

Determine properties of angles in polygons, and use these
properties to solve problems.

EXPLORE...

* A pentagon has three right angles and four sides of equal length, as
shown. What is the sum of the measures of the angles in the pentagon?

SAMPLE ANSWER

| drew a diagonal joining the two angles that are not right angles. This cut
the pentagon into a rectangle and a triangle. | knew that the quadrilateral was
a rectangle, not a trapezoid, because the two right angles share an arm, so
their other arms must be parallel. As well, the other arms are equal length. |
knew that the sum of the measures of the angles in a rectangle is 360° and
the sum of the measures of the angles in a triangle is 180°, so the sum of the
measures of the angles in the pentagon must be 540°,
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INVESTIGATE the Math

In Lesson 2.3, you proved properties involving the interior and exterior
angles of triangles. You can use these properties to develop general
relationships involving the interior and exterior angles of polygons.

@ How is the number of sides in a polygon related to the sum of
its interior angles and the sum of its exterior angles?

Part 1 Interior Angles

A.  Giuseppe says that he can determine the sum
of the measures of the interior angles of this
quadrilateral by including the diagonals in the
diagram. Is he correct? Explain.

B. Determine the sum of the measures of the
interior angles of any quadrilateral.

C.  Draw the polygons listed in the table below. Create triangles to help
you determine the sum of the measures of their interior angles. Record
your results in a table like the one below.

Number of Number of Sum of Angle
Polygon Sides Triangles Measures
triangle 3 1 180° @
quadilateral 4 ja) 360°
pentagon 5 3 MO
hexagon 6 "" 730"
heptagon 7 5 qOO'
octagon 8 o (050.

D. Make a conjecture about the relationship berween the sum of the
measures Of the interior angles ofa PO])'goﬂ, S, an\:l the numbef Df
sides of the polygon, n.

E.  Use your conjecture to predict the sum of the measures of the interior
angles of a dodecagon (12 sides). Verify your prediction using triangles.

Answers

A. Approach 1: Giusseppe is not correct. I tried
his strategy. The diagonals cut the quadrilateral
into four triangles. The sum of the measures of the
angles in four triangles is 4(180°) or 720°. The
sum of the measures of the angles in a quadrilateral
is actually 360°.
Approach 2: Giusseppe is correct if he considers
only one diagonal in the quadrilateral. One diagonal
separates the quadrilateral into two triangles.
The angles of the triangles form the angles of
the quadrilateral. This means that the sum of
the measures of the angles in any quadrilateral
is 360°.
Approach 3: Yes, Giusseppe is correct. | drew
the diagonals and noticed that they cut the
quadrilateral into four triangles. The sum of the
measures of the angles in the four triangles is
4(180°) or 720°. But one angle in each triangle
occurs where the two diagonals intersect. The
sum of the measures of these angles is 360°.
I subtracted 3607 from 720°, giving the correct
sum of the measures of the angles in the
quadrilateral.

B. The sum of the measures of the angles in a quadrilateral is 360°.

C. For example:

Number of Number of Sum of Angle
Polygon Sides Tri; Measures
triangle 3 1 180°
quadrilateral 4 2 360°
pentagon 5 3 540°
hexagon 6 4 720°
heptagon 7 5 900°
octagon 8 6 1080°

D. The number of triangles in a polygon is two less than the number
of sides. To determine the sum of the measures of the angles in any
polygon, subtract 2 from the number of sides and then multiply by 180°.
This is my conjecture: The sum of the measures of the interior angles
in a polygon, S(n). is:
S(n) = 180°(n — 2)

E. For example, I predict that the sum
of the measures of the angles in a
dodecagon is

S(ny = 180°(n — 2)

S(12) = 180°(12 — 2)

S(12) = 1800°
I drew a dodecagon. Then | drew all
the diagonals from one of the vertices.
There are 10 triangles in my diagram,
so the sum of the measures of the
angles in a dodecagon is 10(180%) or
1800°.
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Part 2 Exterior Angles

F.  Draw a rectangle. Extend cach
side of the rectangle so that the
rectangle has one exterior angle

for each interior angle. H O
Determine the sum of the
measures of the exterior angles.

G.  Whar do you notice about the
sum of the measures of each
exterior angle of your rectangle
and its adjacent interior angle?
Would this relationship also
hold for the exterior and
interior angles of the irregular
quadrilateral shown? Explain.

H.  Make a conjecture about the sum of the measures of the exterior angles
of any quadrilateral. Test your conjecture.

I Draw a pentagon. Extend cach side of the pentagon so that the
pentagon has one exterior angle for each interior angle. Based on
your diagram, revise your conjecture to include pentagons. Test your
revised conjecture,

). Do you think your revised conjecture will hold for polygons that have
more than five sides? Explain and verify by testing.

Answers

F. For example, each exterior angle has a measure of 90°. The sum of the
measures is 360°,

G. They are equal. This would not hold for an irregular quadrilateral.
Alternatively, each exterior angle is supplementary to its adjacent interior
angle. This would be true for any quadrilateral, because this pair of
angles forms a straight line.

H. My conjecture: The sum of the measures of the exterior angles of any
quadrilateral is 360°,

To test my conjecture, | wrote each exterior angle as the supplement of its
adjacent interior angle a, b, ¢, and d.

w=(180° — a),x = (180° — b), y = (180° — ¢), and z = (180° — d)
The sum of the measures of the exterior angles is

S=wt+tx+y+=z

§=(180° —a) + (180° — h) + (180° — ¢) + (180° — ) Substitution
§=720°~(a+b+tct+d

a+ b+ ¢+ d=360° Sum of the measures of the interior angles of

a quadrilateral

5= 720" — (360%) Substitution

§=360°

My revised conjecture: The sum of the measures of the exterior angles of

a pentagon will also be 360°.

| drew a pentagon with interior
angle measures a, b, ¢, d, and e, and
exterior angle measures v, w, x, v,
and z, as shown.

| wrote each exterior angle as the
supplement of its adjacent interior
angle.

v =(180° — a), w = (180° — b),
x=(180° —¢),y = (180° — d), and
z=(180° —¢)

The sum of the measures of the exterior angles is

S=v+wtx+y+:z

§= (180" — a) + (180° — b) + (180° — ¢) + (180° — d)

+ (180° — ¢) Substitution

§S=900°-(@+tbhbtectd+te

a+b+c+d+e=540"  Sum of the measures of the interior

angles of a pentagon

§=900° — 540° Substitution
§ = 360°
My conjecture is correct.

J. Yes, it will always hold. You can think of the sum of the measures of the
exterior angles as the angles you turn when walking around the shape.
Since a complete turn of a circle is 360°, I think the sum of the measures
of the angles will also be 360°.

Communication | Tip

When a side of a polygon

is extended, two angles are
created. The angle that is
considered to be the exterior
angle is adjacent to the interior
angle at the vertex.

exterior angle

adjacent
interior

October 05, 2015
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Reflecting

K. Compare your results for the sums of the measures of the interior
angles of polygons with your classmates’ results. Do you think your
conjecture from part D will be true for any polygon? Explain.

L. Compare your results for the sums of the measures of the exterior
angles of polygons with your classmates’ results. Do you think your
conjecture from part I will apply to any polygon? Explain.

Answers

K. Yes, | do. A polygon with # sides has (# — 3) diagonals that can be drawn
from one vertex, cutting the polygon into (n — 2) triangles. Therefore,
my conjecture should be valid for all polygons.

L. Yes, I do. The sum of the measures of the exterior angles is 360° for all
the polygons we tried. It is reasonable to think that my conjecture will be
valid for all polygons.
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APPLY the Math

EXAMPLE 1

Prove that the sum of the measures of the interior angles of any #-sided
convex polygon can be expressed as 180°(n — 2).

Viktor's Solution

The sum of the measures of the angles
in n triangles is 7(180°).

Reasoning about the sum of the interior
angles of a polygon

October 05, 2015

convex polygon

A palygon in which each interior
angle measures less than 180°.

convex
{concave)
(| drew an n-sided polygon. |

represented the nth side using a

broken line. | selected a point in

the interior of the polygon and

then drew line segments from

this point to each vertex of the

polygon. The polygon is now

separated into n triangles.

The sum of the measures of the

k_angles in each triangle is 180°.

i . .

Two angles in each triangle
combine with angles in the
adjacent triangles to form two
interior angles of the polygon.

Each triangle also has an angle at
vertex A. The sum of the measures
of the angles at A is 360° because
these angles make up a complete
rotation. These angles do not
contribute to the sum of the

Qnterior angles of the polygon.

The sum of the measures of the interior angles of the polygon, S(#), where n is

the number of sides of the polygon, can be expressed as:

S(n) = 1807 — 360°
S(n) = 180°(n — 2)

The sum of the measures of the interior a
expressed as 180°(n — 2).

ngles of a convex polygon can be
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EXAMPLE 1 Reasoning about the sum of the interior
angles of a polygon

Prove that the sum of the measures of the interior angles of any #-sided

convex polygon can be expressed as 180°(n — 2).

Your Turn
FExplain why Viktor's solution cannot be used to show whether the m

expression 180°(n — 2) applies to non-convex polygons.

Answer

Viktor’s strategy only works if the triangles formed by the line
segments from a point on the interior of the polygon to each vertex
of the polygon lie entirely inside the polygon. To illustrate this, |
drew a non-convex polygon and tried Viktor’s strategy. | noticed
that line segments AC, and AC, each formed a triangle that had
whole and partial angles outside the polygon.




foundations11ch2lesson4.notebook October 05, 2015

EXAMPLE 2 Reasoning about angles in a regular
polygon

Outdoor furniture and structures like gazebos sometimes use a regular
hexagon in their building plan. Determine the measure of each interior

angle of a regular hexagon. = &

Nazra's Solution

()
‘ . ~ 20
Let 8(n) represent the sum of the measures of the interior angles of the G
polygon, where » is the number of sides of the polygon.
(-]
, . - (20
S(n) = 180°(n — 2) (A hexagon has six sides, son = 6.
S(6) = 180°((6) — 2]
S(6) = 720° _
720° Since the measures of the angles
c = 120° -----------------------------1in a regular hexagon are equal,
1
The measure of each interior each angle must measure — of

angle of a regular hexagon is 120°. the sum of the angles.
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EXAMPLE 2 Reasoning about angles in a regular
polygon

Outdoor furniture and structures like gazebos sometimes use a regular
hexagon in their building plan. Determine the measure of each interior
angle of a regular hexagon. Y= ©

& 7 %

Your Turn

Determine the measure of each interior angle of a regular 15-sided polygon
(a pentadecagon). nNn-—

e 130 (15-2)
15

©

1% (13)
S

QQIHE?_' )

Answer

The sum of the measures of the angles in a pentadecagon is
13(1807) or 2340°. For a regular pentadecagon,

. 2340
each angle is — 5~ or 156,



foundations11ch2lesson4.notebook October 05, 2015

EXAMPLE 3 Visualizing tessellations

A floor tiler designs custom floors using tiles in the shape of regular
polygons. Can the tiler use congruent regular octagons and congruent

squares to tile a floor, if they have the same side length?

Vanessa's Solution

=
Sln) = 180°(w —2) Since an octagon has eight sides,
S(8) = 180°((8) — 2] il
S(8) =1080° pe .

e First, | determined the sum of the
1080 .

= 135° measures of the interior angles of

. i an octagon. Then | determined
I'he measure of each interior angle in B = Of each interior
a regular octagon is 135°. \.@ngle in a regular octagon.

The measure of each internal angle in
a square is 90°.

T'wo octagons fit together, forming an angle that measures:
2(135°) = 270°.

This leaves a gap of 90°.

2(135°) + 90° = 360°

A square can fit in this gap if the sides

| knew that three octagons
would not fit together, as the
sum of the angles would be

greater than 360°.
of the square are the same length as the

sides of the octagon.

2(135°) + 90° = 360"

_________ | drew what | had visualized using
dynamic geometry software.

The tiler can tile a floor using regular octagons and squares when the
polygons have the same side length.
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In Summary

Key Idea

* You can prove properties of angles in polygons using other angle
properties that have already been proved.

¢ The sum of the measures of the interior angles of a convex polygon
with n sides can be expressed as 180°%n — 2).

180°(n — 2
e The measure of each interior angle of a regular polygon is #

¢ The sum of the measures of the exterior angles of any convex polygon
is 360°.

Assignment: pgs. 99 - 101

October 05, 2015
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M‘> .M \.ﬂna‘le Properties n 'Q:l\{g:ns

l.a) Determine the sum of the . M
mMeasures of Tthe interior

Q
QnStcS of a regu lar dodeau\cjor\. A .
S=180°(n-2) w5
S= 180°(12-2) S
S= 180°C10)
S= 1800°
b) Determine the measure of each interior
c:lr‘:\cj\e of a 'E'E'.SU.'(Q"‘." dodeco.Son.
Hca,sure of each interior ong\e = @"Eg:@_-)
"
= 180°(12-2)
S
= 130°010)
12,
= |800°
|
= |50°

11
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2.. Detrermine the sum of +he measures of
e angles in o JO-Sided Convex polygen.

S=180(n-2)
S= 180%(D0-J)
S= 180°(18)
S= 3240°

12
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3. 1he sum of the measures of +he interior
angles of Gn unknown polyqen 18 BOO"
(i)e-acrminc The number of S +hat Hhe
PD\\{SDH has.

S = 180°(n-2)
BO60O = 130N ~360°

DOCCHIEC” = 180°n
$N20° L8E° N

180° L8C®
19=n

"

6. Determine the measure of
each interior cmale of a loonie.

ch&uré ofeach inﬁ-e.n‘or‘ O.T‘)Sle = 1RO (n-2.)
B
= 180°C11-2)

I
= 180°(9)
1)
¥ 147"
SRty

October 05, 2015
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7. Kach interior angle of a reqular convex
poh;gon measures 140°

a) Prove +hot the ROy Son has nine sides.

\“*FQSure ot each (ntericr cmS\.e = \80°'(n-2.)
N
MO = 180" (n-2)
|
_140°n = 1830°n-36C"
MO Nn—-180°n= -3c0°

-dern=-260°
._%a . '\'{On
n=9

k) Ueri—?g +hot the sum of the mcqsufes
of +h& exterior ong\es 1S 360°

120°=1M0°= M0° (Each exterior c;mS\Gi)
qQYYe®) = 360°

14
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8a) Determine the mcasure of each exterior
O.\'\S\E‘. of a ttau.lo.r DCi‘o.gon-

Each exterior angle = Q‘E‘:’@Q‘
| = y5°

b) Use our answer for part a) to determine
+he theasure of each interior angle

ofF a reaulor od-QSOﬁ.

| E&Ch intecior cmS\e = 't%O"—‘*JS"{Sup leme_tﬁm\*j}
_ = 135° \fgng\es

15
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c) Use ur answer for part b) 40 determine
+he Qf

m ofF +he interior Qna\cso—fr Q
re\cju\.clr Gc+o.80n.

BL135°)
= 1080°

d) Use +he function S(n) = 180°(n-2.)

-'%-o determine -H'\e Sum of +he (nterior
\es of a reqular octacon. (empare
@r answer Wi +he sum Uou determined

t-()\ part (C).

Sum of interior c:malcs

S=180°(n-2.)
S= 1830°(3-2)
= 180°(L)
S= |og80°

* The answers far part (c)and part (d)
~are the Same.

16
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I0. LMNOP s aregular pentagon.

a)Determine +he measure of <OLN
= ) i o 4 Lo/
oF T pontsgamie = 180°(n-2)
N
= 180°(3).
5
- h@go

<PLO and <MLN =

]

| BO°=108§°
2.

= T72°
2

= 3¢° (Isosceles Tr)w‘an&lcs,)

108°*-3e-3¢°
36°

<OILN

n ol

17
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|1, QSG“dB des@mcd +hi's loce for
'H\edcrseys worn by her
Softball feam.She told +he
caphic ar+ist that each
nterior anagle of the r%ulqr
decagon Shdu ld measure
162“) ased on This Caleuletion.

S=180°Go-1)
1O

S = e
1O

S=1¢2°

-‘.__Lﬂ-d'EﬁJ!'l"? +he error she made and determine
+he corréect cmg'-.e -

¥ The error occurs in the first line. 5
The correct formula 158 Sln)= 1§G°(ﬁ~2:)

N
=> S(10) = 180°(10-2)
10
= 180°C(8)
1O
= I4yNg°®

October 05, 2015

18



foundations11ch2lesson4.notebook

3. Mar+in s planning to build
a hexagonal picnie table,
as shown.

Q) Detrermine the angles
at +he ends of eath
prece of wood Hhat
i"‘l&ﬂ‘ih needs +o cut
for +he seats.

h inher le
Eéci_g inTEYrior ang

a hexagon — @iﬁ“&)
n \.,Hhau:as a¥ $heend
= 180°(&-2,) of each pieceof
() wocd fFor the seat
= 180°(Y4) Ly 19C° =:0°
(2 ¥
= 1a0°

b) How wou ld +hese angles Ch&n&e ¥ Martin

decided +o make an cc-l-cxgoncll table -.'nsi'e.o.d?_

ﬁgéﬁﬁ%gﬁe = |1R30°(n-2) u‘:‘m\:)i.cs at t+he end
M

of each piecect
= 180°(3-2) woeod For the seat

g Ly 133°= 671.5°
= 13¢°(g) L

8
= 135°

October 05, 2015
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Attachments

PM11-2s4-interior.gsp
PM11-2s4-exterior.gsp
2s4e1 finalt.mp4
2s4e?2 finalt. mp4
2s4e3 finalt.mp4
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